TIMES TABLES

A TIMES TABLES

A.1 CALCULATING USING THE TIMES TABLE

I1x0=0
Ix1=4
1x2=8
Ix3=12
Ix4=16
Ex 1: Given the time table of 4 41 x 5 = 20,
4 x6=24
4x7=28
I x 8=232
I x 9 =36
4 x10=40

calculate 4 x 9 =

Answer: In the time table of 4, we find

I x9=236
gx0=0
8x1=28
8x2=16
8x3=24
8 x4=32

Ex 2: Given the times table of 8 & x 5 = 40,
8 x 6 =148
8 X 7 =56
8 X 8 =064
8x9="72
8 x 10 =80

calculate 8 x 7 =

Answer: In the times table of 8, we find

8 x 7 =56

7 =0

7 =7
7 =14
(X3 =21
7 =28
Ex 3: Given the times table of 7 7 x 5 = 35,
TxX6=42
7x7=149
7x 8 =056
7Tx9=063
7 x10="70

calculate 7 x 6 =

Answer: In the times table of 7, we find

7Tx6=42
Tx0=0
Tx1=7
Tx2=14
Tx3=21
Tx4=28
Ex 4: Given the times table of 7 7 x 5 = 35,
TX6=42
TxT7=49
7x 8 =056
7Tx9=063
7x10="70

calculate 7 x 6 =

Answer: In the times table of 7, we find

7x6=42
Ix0=0
4x1=141
Ix2=8
Ix3=12
4x4=16
Ex 5: Given the times table of 4 4 x 5 = 20,
Ix6=24
Ix7=28
1x8=32
4x9=236
1 x 10 =40

calculate 4 x 7 =

Answer: In the times table of 4, we find

Lx 7=28

B TIMES TABLE OF 2

B.1 COUNTING BY 2S USING A NUMBER LINE

Ex 6:

A
The missing number is @

Answer: The missing number is 6.

+2 +2 +2

Ex 7:



)
'
o
[N}
X
S
I
[]

The missing number is .

Answer: The missing number is 8.

+2 +2 +2

N T N T Ny _
9 4 6 8 Answer:2x4—4—|—4
=8
Ex 8: Ex 13:
} 2x6 :|1__2|
8 10 12 I:I AN LA
The missing number is . ] ]
Answer: The missing number is 14. L AL
+2 +2 +2 —|
8 10 1'2 1'4 o o
Answer: 2 X 6 =6+ 6
Ex 9: =12
, , , , Ex 14:
12 14 16
] 2 x 9 =[15]
LA LA
The missing number is . — —
Answer: The missing number is 18. 1 [ ]
+2 +2 +2 —
1'2 1'4 1'6 1'8 | |
B.2 MULTIPLYING BY 2 USING CUBES U
Ex 10: T
2X3:|E| Answer: 2X 9 =949
=18
B.3 MULTIPLYING BY 2 USING CUBES
Ex 15:
2X =
Answer:2><3:3+3 @
=6
Ex 11:
2 x5=[10]
I =6
1 Ex 16:

[N}
X
El
]
-
(an)

Vi ( a— Answer: 2 X 3 =3+ 3

Answer: 2 X 5 =5+D5
=10

EEEEE)

Ex 12:
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Answer: 2X D =5+D5H

=10
Ex 17:
2><_
Answer: 2 X 4 =4+ 4
=8
Ex 18:
2x |6]=12

LA £

Answer: 2 X 6=6+06
=12

B.4 MULTIPLYING BY 2 USING CUBES

Ex 19:
3><2_

SEEL

Answer: 3 X 2 =2 X 3
=3+3
=6
Ex 20:
HX2=

“ELEE:

Answer: D X 2 =2 X5
=5+95
=10

Ex 21:

4x2=[8]

SEEE

Answer: 4 X 2 =2 x4
=444
=8

Ex 22:
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6 x 2=

‘ELEEE

Answer: 6 X 2 =2 X 6
=646
=12

Ex 23:

9><2—18

S

Answer: 9 X 2 =2x9
=9+9
=18

B.5 CALCULATING 2 TIMES

Ex 24: 2 x 1 =[2]

Answer:

e 2x0=0
2x1=2
2x2=4
2x3=6
2x4=28
2x5=10
2x6=12
2x7T=14
2x8=16
2x9=18
2 x 10 =20

e J)x1=2

Ex 25: 2 x 0 =[0]

Answer:

e 2x0=0
2x1=2
2x2=4
2xXx3=6
2x4=28
2x5=10
2x6=12
2xT7T=14
2x8=16
2x9=18
2 x 10 =20

e 2x0=0

Ex 26: 2 x 3 =[6]

Answer:
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e 2x0=0 e 2x0=0

2x1=2 2x1=2
2x3=606 2x3=606
2x4=28 2x4=28
2x5=10 2x5=10
2X6=12 2X6=12
2x7=14 2xT7=14
2x8=16 2x 8 =16
2x9=18 2x9=18
2x10=20 2x10=20

e 2X3=60 e 2xXx4=8

Ex 27: 2 x 2 =|4] Ex 30: 2 x 7= 14]
Answer: Answer:

e 2x0=0 e 2x0=0
Ix1=2 2x1=2
2x2=4 2x2=4
2x3=606 2x3=606
2x4=8 2x4=28
2x5=10 2x5=10
2X6=12 2X6=12
2x7T=14 2x7=14
2x 8 =16 2x8=16
2x9=18 2x9=18
2x10=20 2 x 10 =20

e ) x2=14 e O xT7T=14

Ex28:2><5: Ex31:2><6:
Answer: Answer:

e 2x0=0 e 2x0=0
2xXx1=2 Ix1=
2Xx2=4 Ix2=4
2x3=606 2x3=606
2x4=8 Ix4=28
2x5=10 2x5=10
2x6=12 2x6=12
2xT7T=14 2x7T=14
2x8=16 2x8=16
2x9=18 2x9=18
2x 10 =20 2 x 10 =20

e 2 x5=10 e 2 X6=12

Ex 29: 2 x 4 =[8] Ex 32: 2 x 8 = 16]
Answer: Answer:
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e 2x0=0
2x1=2
2x2=14
2x3=606
2x4=28
2x5=10
2x6=12
2x7=14
2x8=16
2x9=18
2x10=20
e 2 x8=16

Ex 33: 2 x 10 =20

Answer:

e 2x0=0
2x1=2
2x2=4
2x3=606
2x4=8
2x5=10
2x6=12
2xT7T=14
2x8=16
2x9=18
2 x10=20

o 2 x10=20

Ex 34: 2 x 9= 18]

Answer:
e J2x0=0
2x1=2
2x2=14
2x3=606
2x4=8
2x5=10
2x6=12
2xT7T=14
2x8=16
2x9=18
2x10=20
e 2 X 9=18

C TIMES TABLE OF 5

C.1 COUNTING BY 5S USING A NUMBER LINE

Ex 35:

0o 5w [ ]

Www.commeunjeu.com

The missing number is .

Answer: The missing number is 15.

+5 +5 +5

Ex 36:

The missing number is .

Answer: The IIliSSiIlg number is 20.

+5 +5 +5

Ex 37:

26 2% 36 [:i:]

The missing number is .

Answer: The missing number is 35.

+5 +5 +5

20 25 30 35

Ex 38:

B0 6 [

The missing number is .

Answer: The missing number is 50.

+5 +5 +5

35 40 45 50

C.2 MULTIPLYING BY 5 USING CUBES

Ex 39:

X
ot
I
—
=]

QaaQq.,,
Q.
QRAAQ

Answer:

I”IIIIIIIIIQ

Qrat

QQaaQ
QQaaQ
QQaaQ
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Answer:

5+5+5
10+5
15

e 3 x5

SO SO SO N

SO SO SO N

7
7
7
7
7
¢ 6Xx5=5+5+5+5+5+5

Ex 40:

10+ 10+ 10

30

C.3 MULTIPLYING BY 5 USING CUBES

Answer:

Ex 43:

////////

Answer:

O

5+5+5+5
10+ 10
20

e 4x5H

\ml\
@@@@ﬂ

(|
o U e
D0 ~ =
\l\w|
\ml\w|

e 5H X2

\m]\m]\m ' L\
\ul\ml\ul\sl\s
8]

-00BBB
llslslwluls

bbb

Ex 41:

Ex 44:
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5 % 4=[20] e 5x0=0

9000 5x1=5
9000 5x2=10
9000 5x3=15
00T 5x4=20
5x5=25
5% 6 =30
Answer: 5%x7=35
J— 5x8=40
-HH 5x9=45
09000 o 5% 10 = 50
09000 9900 HH
90000 909090 HH ¢ 5x0=0
90000 O0900 -
.0606066_-660660 -HE A
e 5 x4=4x%x5 Answer:
=54+5+5+5
=10+ 10 e 5x0=0
=20 5x1=5
5x2=10
5x3=15
Ex 46: 5 4 = 20
5x5=25
5 x 6 =[30] 5% 6 =30
FIPIPIT 5x7=35
FIPIPIT 5 x 8 = 40
FIPIPIT 5 x 9 = 45
FIPIPIT 5 x 10 = 50
lailaala) r
GEELT - 5x3=19
B Ex 49: 5 x 1 =[5]
009900 A
0000 90900093 Hi- e 5x0=0
090090 I0009090 HiH 5x1=5
9960606 6899999 HHE 2= 10
9860686 080808 HH- Sx3=15
. J99090 - 990933 - IO ii;‘:;g
e 5X6=6x5H 5% 6 =230
=5+5+5+5+5+5 5XT7=35
=10+ 10+ 10 5x 8 =40
=30 5x9=145
5% 10 = 50
C.4 MULTIPLYING BY 5 e ox =9
Ex 47: 5 x 0 =[0] Ex 50: 5 x 2 =[10]
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5x0=0

5x0=0

L0

Yo

o)

Yo

5 x2=10
5x3=15

x4 =20

X5 =125
5x6=30
hx7=235
5 x8=40
5x9=45

5x 10

X 2 =10
Hhx3=15
5x4=20

x 6 =30
H5xT7T=235

10 =50

5x5=25
5 x 8 =140
5x9 =45
5 x

0

0

2=10

o X

5% 6

5x0=0
H5x1=5
5x2=10

Ex 54:
Answer:

5%X5
5%x0=0
x1=5
Hx2=10

Ex 51:
Answer:

0

10

oo}

0

20

x4

Hx5H=25
5x6 =30
5x7=235
5 x 8 =40
H5x9=45
5x 10 =50

H5x8

5x0=0

e 5 x6=230

Ex 55:
Answer:

5x4=20
X H =25
5x6 =30
5x7=235
5 x 8 =40
H5x9=45
5x10 =50
5 =25
5x4
x0=0

o X

[ ]
Ex 52:
Answer:

0

0

0

0O

10

x3=15
5x4=20
5x5=25
5% 6 =230
5x8=40
5x 10

55X 2
5 x 8 =40

Ex 56:
Answer:

5x2=10
5x3=15
x4 =20
5XdH=125
5x6=230
OXT7=35
5x8=140
5x9=45
5 x 10 =250
e H x4=20
Ox T
Www.commeunjeu.com

Ex 53:
Answer:
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e Hx0=0
5x1=5
5x2=10
5x3=15
5x4=20
5 xb5=25
5x6=230
5x7=235
5x8=40
5 x9=45
5 x 10 =50

e 5 x10=50

Ex 57: 5><9:

Answer:
e 7 x0=0
5x1=5
5x2=10
5x3=15
5x4=20
5xb5=25
5x6=30
5xT7=235
5x8=140
5x9=45
5x 10 =50
e Hx9=45

D TIMES TABLE OF 10

D.1 COUNTING BY 10S USING A NUMBER LINE

Ex 58:

10

The missing number is .

Answer: The missing number is 30.

+10

+10

20

)

+10

Ex 59:

10

20

30

20

30

The missing number is .

Answer: The missing number is 50.

+10

+10

40

)

+10

20
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30

40

50

Ex 60:

00w [ ]

The missing number is .

Answer: The missing number is 70.

+10 +10 +10

40 50 60 70

Ex 61:

70 80 90 E
The missing number is | 100 |

Answer: The missing number is 100.

+10 +10 +10
NG N T Ny
70 80 90 100

D.2 MULTIPLYING BY 10 USING CUBES

Ex 62:

w
X
—
S
|
w
S

LD
EEEEEEEEEE)
LD

Answer:

e 3x10=10+10+10
=30

Ex 63:

6 x 10 =[60]

LI LLLD
(LI LLD
LD
(LI LLD

Answer:

e 6x10=10+10+10+10+10+10
=60

Ex 64:
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Answer:

o
X
—
:

' I

|i

e 6x10=60

Ex 68: Each butterfly has 4 wings.
How many wings are there?

Answer:
e 8x10=104+10+10+10+ 10+ 10 + 10+ 10 % % % % w
— 80

wings

LI LLLD
(LTI

Ex 65:

Answer:

X
_
S
I
o
S

e 4 x10=40

Ex 69: How many fingers are raised?

e 5x10=10+10+10+ 10+ 10 %% %%
D.3 MULTIPLYING BY 10 USING ITEMS %%@g %%

T A\
L LI LLLD
LI ITIILD

P

(LI LI ILLLD

Ex 66: How many bananas are there? raised fingers
| | | | Answer:
- o o hr hr hr e 8x10=280
bananas
D.4 MULTIPLYING BY 10
Answer:
¢ 3x10=10+10+10 Ex 70: 10 x 0=[0]
=30 Answer:
Ex 67: How many fingers are raised? e 10x0=0
10x1=10
Y Y
10 x 3 =30
10 x 5 =50

% %&9 10 x 6 =60

10x7="70

% %&? 10 x 8 =80

10 x9 =290

% %&? 10 x 10 = 100
raised fingers e 10x0=0
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Ex 71: 10 x2=[20] e 10x0=0
P 10x1=10
10 x 2 =20
e 10x0=0 10 x 3 =30
10x1=10 10 x 4 = 40
10 x 2 =20 10x 5 =50
10 x 3 =30 10 x 6 =60
10 x 4 = 40 10x 7="170
10 x 5 =50 10 x 8 = 80
10 x 6 =60 10x 9 =090
10 x 7="70 10 x 10 = 100
10 x 8 = 80
10 % 9 = 90 e 10x3=230
10 x 10 = 100
o 10 x 2 =20 Ex 75: 10 x 5 =|50]
Answer:
Ex 72: 10 x 1 =[10]
e e 10x0=0
10x1=10
e 10x0=0 10 x 2 =20
10x1=10 10 x 3 =30
10 x 2 =20 10 x 4 = 40
10 x 3 =30 10 x 5 = 50
10 x 4 = 40 10 x 6 = 60
10 x5 =50 10x7="170
10 x 6 = 60 10 x 8 = 80
10x7="170 10 x 9 =90
10x 8 =280 10 x 10 = 100
10 x 9 =90
10 x 10 = 100 e 10x5=50
e 10x1=10

Ex 76: 10 x 8 =[80]

Ex 73: 10 x4 =[40]

Answer:
Answer:
e 10x0=0
o 10x0=0 10x1=10
10x1=10 10 x2=20
10 x2=20 10 x 3 =230
10 x 3 =30 10 x 4 =40
10 x 4 =40 10 x 5 =150
10 x 5 =50 10 x 6 = 60
10 x 6 =60 10x7="70
10x7="70 10 x 8 =80
10 x 8 =80 10 x9 =290
10 x9 =90 10 x 10 = 100
10 x 10 = 100
e 10x8=80
e 10x4=140

Ex 74: 10 x 3 =[30]

Answer:

Www.commeunjeu.com
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Ex 77: 10 x 6 =[60]

Answer:
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e 10x0=0

10x1=10
10 x 2 =20
10 x 3 =30
10 x 4 =40
10 x 5 =50
10 x 6 =60
10x7="170
10 x 8 =80
10x9 =90
10 x 10 = 100
o 10 x6=060

Ex 78: 10 x7=70]

Answer:
o 10x0=0
10 x1=10
10 x 2 =20
10 x 3 =30
10 x 4 =40
10 x 5 =50
10 x 6 =60
10X 7="70
10 x 8 =80
10 x9 =90

10 x 10 = 100

o 10XxT7=70

Ex 79: 10 x 10 =100

Answer:
o 10x0=0
10 x1=10
10 x2=20
10 x 3 =30
10 x4 =140
10 x5 =50
10 x 6 =60
10x7="70
10 x 8 =80
10 x 9 =90

10 x 10 = 100

e 10 x 10 =100

Ex 80: 10 x 9 =[90]

Answer:

www.commeunjeu.com
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e 10x0=0
10x1=10
10 x 2 =20
10 x 3 =30
10 x 4 = 40
10 x 5 = 50
10 % 6 = 60
10X 7= 70
10 x 8 = 80
10 % 9 =90
10 % 10 = 100
o 10x9=90

E TIMES TABLE OF 3

E.1 COUNTING BY 3S USING A NUMBER LINE

Ex 81:

o 3 6 D
The missing number is @

Answer: The missing number is 9.

+3 +3 +3

Ex 82:

The missing number is .

Answer: The missing number is 12.

+3 +3 +3

Ex 83:

1}2 1}5 1}8 D
The missing number is .

Answer: The missing number is 21.

+3 +3 +3

12 15 18 21

Ex 84:

118 211 QLL D
The missing number is .

Answer: The missing number is 27.

+3 +3 +3

18 21 24 27
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+ 4 +

E.2 MULTIPLYING BY 3 USING CUBES

Ex 85:

3x2=[6]

T
mlnw

2 QA Q-

mlllw
mlllw
mllw
ml|w

3 X

S

=4+ 4 4 4 counting by 4s: 4,8 and 12
=12

Answer:

alala
T 56

L counting by 20 8, FIT
- FIT
2 + 2 + 2 @@@
900

el FIT

3 X 2=2+ 2+ 2 counting by 2s :2,4, and 6 Answer:
=6
T T T
Ex 86: +
T T T
3% 4 [15] +
3 T
3T T ;
3T T {IANAT
+
T T
[ )
3xd5=5Hx3
@ @ @ =3+ 3+ 3+ 3+ 3 counting by 3s: 3,6,9,12 and 15

15
Answer: 5 + 5 + 5
G655 T3
: 3|
3T O
: 3|
| & O
: 3|
| O T
[ ]
3x4=4x3 N @ @ @
=3+ 3+ 3+ 3 counting by 3s: 3,6,9 and 12 3 x5 =545+ 5 counting by 5s: 5,10 and 15
=12 =15
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Ex 88:

3 x 6 =[18]

milnw
mlnw
mlnw
mlnw
mlnw
milnw

Answer:

I
FIT
T
I
T
T

3x6=6x3

w + w t w t+ ow t+ow T ow

e 3x0=0
3x1=3
3x2=606
3x3=9
3x4=12
3xbh=15
3x6=18
3Ix7=21
3x8=24
3x9=27
3x10=30

e 3x0=0

Ex 90: 3 x 2 =[6]

Answer:

e Ix0=0
Ix1=3
3xX2=6
3x3=9
Ix4=12
3x5=15
3x6=18
Ix7T=21
3x8=24
3x9=27
3 x 10 =30

=3+3+3+ 3+ 3+ 3 counting by 3s :3,6,9,12,15 and 1§ 3 x 2 = ¢

e

+

_I_

QA QAR QA-

7
7
7
7
7
7

+ 6 counting by 6s :6,12 and 18

0]

w

X
D

Il
=
+
(@)

E.3 MULTIPLYING BY 3

Ex 89: 3 x 0=[0]

Answer:

Www.commeunjeu.com
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Ex 91: 3 ><3:|E|

Answer:
e 3Ix0=0
Ix1=3
3x2=6
3x3=9
3x4=12
3xb5=15
3x6=18
3IxT7=21
3x8=24
3x9=27
3 x 10 =30
e I x3=9

Ex 92: 3 x 1 =[3]

Answer:
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o 3x0=0

Ix1=3
3x2=606
3x3=9
3x4=12
3Ixb=15
Ix6=18
3x7=21
3x8=24
3x9=27
3 x 10 =30
e 3x1=3

Ex 93: 3 x4 =12

Answer:

e 3x0=0
Ix1=3
3xX2=6
3x3=9
3x4=12
3x5=15
3x6=18
IxT7T=21
3x8=24
3x9=27
3 x 10 =30

e 3x4=12

Ex 94: 3 x7 :

Answer:

e 3x0=0
3x1=3
3X2=6
3x3=9
3x4=12
3xb5=15
3x6=18
3xT7=21
3x8=24
3x9=27
3 x 10 =30

e 3 xXT7=21

Ex 95: 3 x5=15

Answer:

Www.commeunjeu.com
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e 3Ix0=0
3x1=3
3x2=606
3x3=9
3x4=12
3xbh=15
3x6=18
3Ix7=21
3x8=24
3x9=27
3 x 10 =30

e 3xH=15

Ex 96: 3 x 6 =| 18]

Answer:

e Ix0=0
3x1=3
3xX2=6
3x3=9
3x4=12
3x5=15
3x6=18
IxT7T=21
Ix8=24
3x9=27
3 x 10 =30

e 3IxX6=18

Ex 97: 3x8 :

Answer:
e 3Ix0=0
Ix1=3
3x2=606
3x3=9
3x4=12
3xb5=15
3x6=18
3IxT7=21
3x8=24
3x9=27

3 x 10 =30
e 3x8=24

Ex 98: 3 x 10 =[30]

Answer:
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e 3x0=0

Ix1=3
3X2=606
3x3=9
3x4=12
3Ixb=15
Ix6=18
3x7=21
Ix8=24
3x9=27
3 x 10 =30
e 3 x10=30

Ex 99: 3 x 9 = 27|

Answer:

e Ix0=0
I3x1=3
3x2=606
3x3=9
3Ix4=12
3x5=15
3x6=18
IxT7T=21
3x8=24
3x9=27

3 x 10 =30

e 3x9=27

F TIMES TABLE OF 4

F.1 COUNTING BY 4S USING A NUMBER LINE

Ex 100:

The missing number is .

Answer: The missing number is 12.

+4

+4

8

)

+4

Ex 101:

12

The missing number is .

Answer: The missing number is 20.

+4

12

+4

16

+4

Wwww.commeunjeu.com

12

16

20

Ex 102:

22 2% 52 [:i:]

The missing number is .

Answer: The missing number is 36.

Ex 103:

+4 +4 +4

24 28 32 36

6w w0 [

The missing number is .

Answer: The missing number is 28.

F.2 MULTIPLYING BY 4 USING CUBES

Ex 104:

Answer:

+4 +4 +4

16 20 24 28

4><2—.

090
090

+

OO0 T

00T

4x2=2x4

= 4 + 4 counting by 4s :4, and 8
=8

2 + 2+ 2 + 2

7
7

i
7

mllw
my|w

4x2=2+2+4 2+ 2 counting by 2s :2,4,6, and 8
=38

Ex 105:

16

4><3_12

dO000
dO000
GO0
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o 00090
lalalal 0000
Ea il d000

elatala 70T
.4><3:3><4 @@@@

=4 + 44 4 counting by 4s: 4,8, and 12

Answer:

960
966
EERE

7|7 )
T T 0
4x3=343+3+3 countin ing by 3s: 3,6,9, and 12 +
-12 00040
[ ]
4x5=5x4
Ex 106 =444+ 4+ 4+ 4 counting by 4s: 4,8,12,16, and 20
=20
4x4=16 5 4+ 5 + 5 +

QA QM

-\

-\

i\

i\
QAT

54 5+5+ 5 countin ing by 5s: 5,10, 15, and 20
2

G000 B 108,

G996 9509
LT 9996
°4x4i;6+4+4+4 nnnnnnn ing by 4s: 4,812, and 16 90900

‘ 9996
Ex 107: @@@@
s V956

N U S SN
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Answer:

G050
050
050
000
050
050

4 x 6 =6 x 4 counting by 4s: 4,8,12,16, 20, and 24
—d+4+4+4+4+4

~ ot oe e e e e

QAQQAAQAQA- *

+
+

QA QA QA

+

QA QA Q-

QA QAQAA-

+ 6 counting by 6s: 6,12,18, and 24

1N

W
X
D
I
N
+
=)
+
D

F.3 MULTIPLYING BY 4

Ex 109: 1 x 0= 0]

Answer:

e 41x0=0
Ix1=4
1x2=8
Ix3=12
4x4=16
4x5=20
4x6=24
4 xT7T=28
4 x8=32
4x9=36
4 x 10 =140

o Ix0=0

Ex 110: 1 x 2 =[8]
Answer:
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e 4Ix0=0

dx1=4
4x2=28
4x3=12
4x4=16
4x5=20
4x6=24
4x7=28
4x8=32
4%x9=236
4 x10=40
o 4 x2=28

Ex 111: 4 x 1 ={4]

Answer:

e 41x0=0
Ix1=4
4x2=8
4x3=12
4x4=16
4x5=20
4x6=24
4x7=28
1 x8=32
4x9=236
4 x 10 =40

e ix1=4

Ex 112: 4 x 4 =16

Answer:

e 41x0=0
Ix1=4
4x2=28
Ix3=12
4x4=16
4x5=20
1x6=24
4xT7T=28
4 x8=32
41x9=36
4 x 10 =40

e 1 x4=106

Ex 113: 4 x5 =20

Answer:
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o Ix0=0

Ix1=41
1x2=8
4x3=12
4x4=16
4x5=20
4x6=24
4x7T=28
4x8=32
4%x9=236
4 x 10 =40
e 1x5=20

Ex 114: 4 x 3 ={12]

Answer:

e 1Ix0=0
Idx1=4
4x2=28
Ix3=12
4x4=16
4x5=20
4x6=24
4x7=28
4 x8=32
4x9=36
4 x 10 =40

e 1 x3=12

Ex 115: 4 x 7 =28

Answer:

e 4Ax0=0
dx1=4
1x2=8
4x3=12
4x4=16
4x5=20
4x6=24
4x7=28
4x8=32
4x9=236
4 x 10 =40

e I xT7T=28

Ex 116: 4 x 8 =32]

Answer:
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o 4Ax0=0
Ix1=4
1x2=8
Ix3=12
4x4=16
4x5=20
4x6=24
4x7=28
4x8=32
4%x9=236
4 x 10 =40

e I x8=232

Ex 117: 1 x 6 = 24]

Answer:

e 1Ix0=0
Ix1=4
4x2=28
Ix3=12
4x4=16
4x5=20
4x6=24
4x7=28
1 x8=32
4x9=236
4 x 10 =40

e Ix6=24

Ex 118: 1 x 9 =|36]

Answer:

e 41x0=0
4dx1=4
4x2=8
Ix3=12
4x4=16
4x95=20
4x6=24
4xT7T=28
4 x8=32
4x9=236
4 x 10 =40

e 1 x9=236

Ex 119: 4 x 10 =40

Answer:
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o Ix0=0

4x1=4
4x2=28
4x3=12
4x4=16
4x5=20
4x6=24
4x7=28
4x8=32
4x9=36
4 x 10 =40
o 4 x10=40
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